WESTERN CONTRACT SHOWROOM CLEARANCE SALE! PLACE YOUR ORDER IN PERSON OR BY PHONE 916-638-3338

FIRST COME FIRST SERVE

	We can accept CREDIT CARD, CHECK OR CASH			CUSTOMER PI	
LINE	PREVIEW DE	SCRIPTION	QTY	DELIVERY NOT PRICING	EXT. PRICE
1	ROOM DIVIDER SCREENS (INTERLOCKING)		6	\$325.00	\$1,950.00
		(2) 65" WIDE (2) 47" WIDE 101" HIGH X 14 DEEP			
2	PLANTER BOX DIVIDERS		6	\$299.00	\$1,794.00
	47"WIDE X 37" HIGH WI	TH PLANTS			
3	VARIOUS FAUX PLANTS		10	\$99.00	\$990.00
	VARIOUS SIZES AND STYLE POT INCLUDED	ES WITH			

	We can accept CREDIT CARD, CHECK OR CASH			CUSTOMER PICK UP - DELIVERY NOT AVAIL.		
LINE	PREVIEW	DESCRIPTION	QTY	PRICING	EXT. PRICE	
	FILING AND STORAGE	DESCRIPTION	<u> </u>	- Tricing	EXT.TRICE	
4		LATERAL FILES 5 Drawer 4 Drawer 3 Drawer	8 3 3	\$199.00 \$199.00 \$199.00	\$1,592.00 \$597.00 \$597.00	
5		DOUBLE DOOR CABINETS 36 X 72 BLACK	7	\$199.00	\$1,393.00	
6		MULTIFILE Lateral file with upper cabinet 30 x 72	11	\$199.00	\$2,189.00	
		Personal Storage Tower 24"x 24 x64 Graphite	3	\$199.00	\$597.00	
7		ROTARY FILES	2	\$399.00	\$798.00	

	We can accept CREDIT CARD, CHECK OR CASH			CUSTOMER PICK UP - DELIVERY NOT AVAIL.		
LINE	PREVIEW	DESCRIPTION	QTY	PRICING	EXT. PRICE	
	DESKS AND TABLES					
8		Cantilever desk White Laminate 30x60	1	\$125.00	\$125.00	
9		Cantilver Desk White Laminate with Metal Leg 54 x 24	1	\$125.00	\$125.00	
10		Haworth Planes Mobile table Maple Laminate (1) 30x 60 Metallic Silver Base	1	\$250.00	\$250.00	
11		30X 72 Planes Mobile	1	\$325.00	\$325.00	
		With Green Fabric Screen 96" Lower Credenza Storage	2	\$499.00		
12		Premise Secant Mobile Table Wood veneer	1	\$225.00	\$225.00	

We can accept CREDIT CARD, CHECK OR CASH			CUSTOMER PICK UP - DELIVERY NOT AVAIL.	
PREVIEW	DESCRIPTION	QTY	PRICING	EXT. PRICE
CONFERENCE FURNITURE				
	ENTIRE SET INCLUDES: HAWORTH PLANES TABLE 42"w x 84L x30h Includes Power access and Module Wood Veneer HAWORTH PLANES CREDNEZA 54w x36" high Wood Veneer with Sliding Glass Doors AND HAWORTH MOBILE LECTERN	1	\$2,400.00	\$2,400.0
	HAWORTH OVAL WOOD VENEER TABLE 36x72	1	\$450.00	\$450.0
	HAWORTH BUFFET CREDENZA 54w x 39" h	1	\$499.00	\$499.
	24 X 72 CREDENZA WITH MARBLE TOP			
	WITH LATERAL FILES	1	\$399.00	\$399.0
		1	\$299.00	\$299.0
	WOOD FACE PERSONAL STORAGE TOWER 24x24x64			

	We can accept CREDIT CARD, CHECK OR CASH		CUSTOMER PICK UP -		
LINE			OTV	DELIVERY NO	
LINE	PREVIEW SEATING	DESCRIPTION	QTY	PRICING	EXT. PRICE
18		HAWORTH IMPROV Wood Back Guest ON CASTER WHEELS	9	\$99.00	\$891.00
19		HAWORTH TO DO MOBILE LOUNGE SKYSCRAPER FABRIC	4	\$225.00	\$900.00
20 21		MAPLE FRAME GUEST CHAIRS MAPLE END TABLE	2 1	\$79.00 \$125.00	\$158.00 \$125.00
22		ARMLESS GUEST CHAIR WITH CHECKER VELVET FABRIC	2	\$199.00	\$398.00
23		CLUB CHAIR DOT FABRIC COFFEE ROUND TABLE	2	\$299.00 \$99.00	\$598.00 \$99.00

	We can accept CREDIT CARD, CHECK OR CASH			CUSTOMER PICK UP - DELIVERY NOT AVAIL.	
LINE	PREVIEW	DESCRIPTION	QTY	PRICING	EXT. PRICE
24	STATIONS	PAOLI U- SHAPE DESK KEYHOLE CONFERENCE TOP UPPER HUTCH AND MULTI FILE CABINETS			
		WOOD VENEER	1	\$5,000.00	\$5,000.00
25		HAWORTH UNIGROUP TOO STATION 6X6 WITH 48" WIDE OVREHEAD STORAGE UNIT WITH BBF DRAWERS	1	\$750.00	\$750.00
26		(3) 36" HIGH TWO DOOR CABIENTS	1	\$599.00	\$599.00
	ARTWORK				
27		SET OF TWO	1	\$100.00	\$100.00

	We can accept CREDIT CARD, CHECK OR CASH			CUSTOMER P	
LINE				DELIVERY NO	
LINE 28	PREVIEW	DESCRIPTION SET OF TWO	QTY 1	PRICING \$150.00	EXT. PRICE \$150.00
29		SET OF TWO	1	\$150.00	\$150.00
30		SET OF FOUR	1	\$100.00	\$100.00
31		SET OF TWO	1	\$89.00	\$89.00
32 33 34		SINGLE SINGLE SINGLE	1 1 1	\$35.00 \$35.00 \$35.00	\$35.00 \$35.00 \$35.00
35			1	\$399.00	\$399.00